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QUESTION 1

Which two statements define the mechanism for console access of the Guest Operating System from the Cisco IR829
router? (Choose two.) 

A. The Guest OS can be accessed by default on Telnet port 2070 from the Cisco IR829 console. 

B. The Guest OS console is available directly by the AUX port 3362 from the Cisco IR829 router. 

C. The Guest OS can be accessed directly using the console port on the Cisco IR829 router. 

D. The Guest OS can be accessed by initiating SSH from the Cisco IR829 console. 

E. The Guest OS console is available only when a static IP is configured on the host. 

Correct Answer: AD 

 

QUESTION 2

Which two data sources are used with a visualization tool such as Grafana? (Choose two.) 

A. Microsoft Power BI 

B. Kibana 

C. InfluxDB 

D. Elasticsearch 

E. Tableau 

Correct Answer: CD 

 

QUESTION 3

Which two states are applications expected to be seen in when they are managed on Cisco IOx? (Choose two.) 

A. DEACTIVATED 

B. ACTIVATED 

C. ALLOWED 

D. STOPPED 

E. VALIDATED 

Correct Answer: BD 
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QUESTION 4

Which two commands inside a Docker container on a gateway help to troubleshoot why the compute performance of the
device is slowing down? (Choose two.) 

A. show processes 

B. top 

C. wmic 

D. ps 

E. proc 

Correct Answer: BD 

 

QUESTION 5

As part of an IoT project, an organization is developing an edge application that will run on a gateway to securely
transmit sensor information it receives into an IoT cloud. Based on the Agile software development lifecycle, the
development team is planning to implement a CI/CD pipeline. 

Which two methods should be suggested to make the software development lifecycle more secure during the
implementation and testing? (Choose two.) 

A. Perform automated code reviews prior to deployment. 

B. Implement auto-provisioning security inspection for the code. 

C. Perform on-going penetration testing on the system. 

D. Perform a GAP analysis on current security activities and policies. 

E. Train members of the team in a secure software development lifecycle methodology such as OWASP. 

Correct Answer: DE 
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